Total No. of Printed Pages—7 ! %s
4 SEM FYUGP ECOC4A"/

£
-

2025

( June )

ECONOMICS
( Core )

Paper : ECOC4A

( Intermediate Microeconomics )

Full Marks : 60

Time : 2 hours

The figures in the margin indicate full marks
for the questions
1. ool MAARs RotrEm e 1x4=4
Answer the following as directed :

(@) TRCIT @4 FF @MWXE 2

What is an indifference curve?

(b) THCSTER WG LI ALY TGO ST T

The revealed preference theory of
consumer’s behaviour is based on

(ij Fesfoe) SRR eo e

consistency
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(2) e
x\‘j
(ii) e TN @S Lok
strong ordering
(iii) SRR €S W BfeTemer ¢o[e
positive income elasticity of demand
(iv) S<T ARCEEE
All of the above .
(= Te1ch1 316 Tersar )
( Choose the correct answer )
(¢) ¥ TAM (IS T B'F
The slope of the isoquant line is
. dK
= dK
i) MRTS ==
(i) LE= "
o dL
) MRTS =—-——
(i) LK =" ¢
: dL
) MRTS =—
(iv) LK = ¢
(= TeCo! 91fb Tferea )
( Choose the correct answer )
(d) -cre w9 e & 2
What is peak-load pricing?
( Continued )
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2. mﬁwﬁmmﬁmemwmm?

4x4=16
Write short notes on any four of the
following :
(@) oIATT SIS T
Indirect utility function *
(b) EPIRY 7Y
Expansion path
(c) AT e I f2prol-ferss wre
Economic profit vs. Accounting profit
(d) S FIOR AN I
Social cost of monopoly power
(e) 7 Riror &=
Oligopoly
3. (a) TcAfe EFa e & ge 2 o ANIR

P TSl FfFIRT 4ReNcE (IS Baw
TR L 40 2+6=8

What do you mean by utility
maximization? Graphically explain the
concept of utility maximization in case
of two goods.
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-5%<q1 / Or

() TRE Baw SRS AR HE FOE B
SRS : 4+4=8

Explain the ordinary and compensated
demand curves with the help of suitable

diagrams.

4. (@) € TEAR TR RIS ¥ T
AR oG fod T, STE ARG T, o I
| IE AfEF I AP FA | (ONE TIW
TS AP (QIPTE WA T 2+2+2+2=8

Explain the average fixed cost, average
variable cost, average total cost and
marginal cost of a firm with the help of a
hypothetical example. Draw the relevant

curves with your comments.
241/ Or

(b) TeoTEEE [0 @R GO AReEEE T
TR T W, (ST TR S FANS
5 59 & B2 Seome @0 B9 [REns

SAETRICT TR 199 2 IR 7Ol |
2+4+2=8
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What is a production function? What
are the three stages of the short-run
production function when one variable
input is used? Under which stage of
production, the rational producer will
produce? Give reasons.

5. () 7 AR TaRE Teme df$dE 93]
ZTEFEN SRS SCEs] 91 | A afecifaeR
SRS o TeAme dfevm @4 71 WdETe
TFSIRS &S e I (TR ? 6+2=8

Discuss the short-run equilibrium of a
firm under perfect competition. Why a
firm under perfect competition cannot
earn supernormal profit in the
long-run?

24/ Or

(b) 7 afecaarem sRme 4 T AfSTErTEE
A HE AR OO AL TOE 90
@ T SF AT T 8

Draw and explain the long-run market
supply curve with the entry and exit of
firms under perfect competition.
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6. (a)

(b)
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(6)

Q¥ T f PR Sfefie waer sige i |
Qg Teome AfPRR wfeflRe wIer [y
foaz a2 4 | ; 2+6=8

Define excess capacity of a firm. Explain
excess capacity of a firm with the help of

*

a diagram.
%<1/ Or

R fceneed 52 W Koo 9 9Ioha
ARV 71 T Tesme e b1 foas sEme
BRIl : 2+6=8

What is price discrimination? Explain,
with the help of a diagram, the price
and output determination in a price-
discriminating monopoly.

Fefiog =¥ 2 b wfdq Teomm Brarm
GFEOA IGRT T Prames  @ewE
§LF 2 4+4=8

What is Cournot model? How does the
output decision in Cournot model differ
from the output decision in a monopoly?
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<€/ Or

(b) ICHH Ioa & @2 TwE Rom-fefes
FICHER AT 7 HF Teome [ a1 g
SRS I FA0 2+6=8

What do you understand by cartel?
Explain, with the help of a diagram, the
price and output determination under
market-sharing cartel.
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